
MAC0024 Test 3 Name

D. Howard (3-16)

Evaluate each of the following in problems #1-5.

1.) 53. 56 = G)

2.) -32 = - 3 ·3 :: (j)

3.)(-3)2 = -3. - 3 =(3)

5.) 4-2 = ~..:: @
6.) Convert O.~13 to scientific notation.

., ,
9.13 X /0

7.) Write 2.1 x 107 in standard form. t.;UJooo,ooo]

8.) Find the area of a rectangle whose width measures 10x3 and

whose length measuresSx. w :; 10x 3 ..i := 5x

A =.fw := /ox3.5x



9.) Findthe equation of a line containing the points (0/4) and (3, -1).
'II"n+
b:=~{Y)::: ~d.- 'I, -\ -4 -5"- ~ ~

x~-)C, -3-0;:: 3

~:;mx+'t>
..".-

~;; -1; x -t-LJ

(x)\})

10.) Findthe equation of a line containing the point (5, 2) with slope

equal to 6. nD+ 'fl(\+!

m~(o "/ :::Vhx+b

~::lo(5)+6 \~::tox--;lg
~=3o+b ~

__ ;:;). &' := b

Simplifyeach of the following in problems #11-21. Write answers using
positive exponents only.

- -- - --- ---



- .-3

14.) (12a2 b + 2ab4) + (3ab4 - 7a2b) =

:::: I ~a '2- b .f ~a bi-f+- 3a b4 _7 C{2-b-
:::: ,5o'Lb 4 Sa bY

~
15.) (12a2 b + 2ab4) - (3ab4 - 7a2b) =

_ I d.(l '2-b + ~o.. bLf _ 3 a. bI.f + 7 a 2. b--
:: ,\9a'l.6 - a'tJLf

~
17.) -2x(x + 4)=

'2..
- ;;(X - 8x

- LJ



rOIL-
~

18,) (3x - 1) (x - 6) =
~

;;: 3'x'2--18x-ly-tlo

;:;. 13x1- _\q)( +lo

~
19,) (x + 4)(x - 4) =

~

:=. x'1- - LJ)< -\-L/ >< -) ~

" )x'>- -II" J

20,) (x + 4)2 =
~'" ~

( X-t-Y) (x~ 4)
l.. ~_ X t l..f x 4-Lfx + J ~

x~ -+- g>< +)Z
---

~ ~-----
21,) (x + 1)(3x2 + x + 8) =

_ 3 X3~)( + 3)('" + x+ is-
-;; I:3X3..j Ljx"'- f-9x +6'


